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13618 i FTHAE REMAN H24.11.1 e 48 ey 4.2
137|182 RB= FoA47)L—Y |RETRKEF H24.11.1 47 3.9 4.4 35
13812 2= h¥x 2 & Bk IR BT F F7 H24.11.1 48 3.9 8.0 35
139|8 B= h¥ BEH/\KH H24.11.1 8.4 3.9 135 35
140|182 Frx INgHYA EEMLUO H24.11.2 BEEd 40 ‘e 43
141|8 Hx T4y BEHAN H24.11.2 By | 5.1 Bey 45
142|2 e ooy BET TEF H24.11.2 gy | 39 42 ; 35
143|182 B = mEHm/MNEF H24.11.2 BHET 4.1 BHEd 35
144|182 B Ea = fa & AR ErET H24.11.5 o ircac 5.2 BHET 5.2
145182 RE h¥ fEETHERIRET 85 H24.11.5 10.4 47 24.1 6.1
14612 R=E h¥x fa B E &R H24.11.5 BHET 47 4.0 35
147|8 B ¥ REMAN H24.11.6 ‘e 45 ey 5.3
148( 12 ZDith FKXIB BEEHMEKRE H24.11.6 e 3.9 4.4 35
14912 £ INgYA fa B R ErET H24.11.7 o Yirhcac 49 4.0 3.6
15018 B=E h¥ EETWIETE) H24.11.7 B 3.9 7.3 35
151|18 B T wEh/INEF H24.11.7 BHET 6.9 BHEd 6.4
152|18 B Hho REMAREH H24.11.9 BmEEd 4.7 BHed 55
153|18 RB= h¥ [ RETRH H24.11.9 44 4.1 8.3 3.6
15418 B=x h¥x f2 & Er HET H24.11.9 5.0 40 9.1 35
155182 £ T ARINGHE 2 & AR ErET H24.11.12 5.3 4.6 BHET 4.2
156|182 ZDfth ZIEn=E REMERER H24.11.12 16.1 6.6 19.2 6.0
157| 8 i 2 b [E RETRH H24.11.12 BEEdT 42 o ahcac 38
158|182 2=E Fo427)L—Y |[fREHILO H24.11.13 15.4 3.9 39.7 5.2
15918 RB=E Hh¥E REMEF H24.11.13 10.0 40 24.4 35
1602 £ THAE mEM/NEF H24.11.13 o Yirhcac 5.6 BHET 5.1
16118 B NIHYA a5 ERIRET F 5 H24.11.14 ‘e 43 BHET 45
162|182 Frx FUT YA BEEHMAN H24.11.14 BEET 4.4 3.7 3.7
163|18 Z D1t K2 [ R ET SR H H24.11.15 5.9 5.1 7.3 46
164|182 ZDith INTFIY FEHEWLET KA H24.11.15 274 47 779 53
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165|182 2=E )3 2 & BRIk BT ;5 7 H24.11.15 BmHEd 4.6 BHed 4.2
16618 Frx NgHA BRFNATEF R H24.11.16 e 5.3 BHET 47
16782 ke = RRFIHTE7 R H24.11.16 BHET 5.2 BHET 47
16818 L Ea = FEREILET E/NE H24.11.16 BmEeEd 48 ‘e 4.4
169( 182 B=x 450 EETHURATES H24.11.16 23.5 48 57.5 4.9
1702 ZDith INFEY 2 B EREFETER A H24.11.16 315 45 76.4 53
171|182 B Ea = mEmEAK H24.11.19 BHed 48 ey 4.2
1722 B FTHAE =ETHEE H24.11.19 43 3.9 BT 35
17382 £ Ea = a2 B mE &R H24.11.19 o Yarhcac 5.0 BHET 4.7
174|182 BE = BEM{I—HH H24.11.20 ‘mied 40 5.2 35
175|182 ok Ak fRETHETER H24.11.20 BEET 5.4 5.9 4.0
176|2 #AK R GEX) (=nts H24.11.20 By | 5.4 6.5 ; 4.0
177| 2 2= h¥ 18 S fE &f H24.11.20 4.9 i 40 8.1 i 35
17818 B k= fa & Bk IR BT F E7 H24.11.20 BHET 5.3 BHEd 48
17982 [P &K BEHMERER H24.11.21 BT 44 6.3 4.0
18018 IR B2 S 2B TR RENR H24.11.21 5.7 45 7.9 4.0
181|182 B NyHYA fa B E &R H24.11.21 BHET 43 BHET 5.1
182(12 B= VAES FEMRIFET H24.11.22 7.6 4.2 18.0 53
18318 B=x h¥ BEETHE H24.11.22 5.9 43 21.9 37
18412 £ Eka = mEM/IMEF H24.11.22 o yarcac 4.9 BHET 47
185|182 L —oy REMAREH H24.11.22 B 5.6 ‘e 4.8
186( 2 B= ¥ FERRIFET H24.11.26 47 4.0 5.9 35
187|182 R=E FOA42)L—Y |fBETEXEFE H24.11.27 125 3.3 20.1 43
188|182 B=E h¥ fREHMEER H24.11.27 BmEEd 3.9 3.8 2.9
18918 B FoRY REMAN H24.11.28 o yircac 45 o dirhca 4.0
19018 2=E h¥ EEMER H24.11.28 6.8 3.3 19.7 35
19118 R=E Hhy REMAREH H24.11.29 42 3.7 5.7 3.3
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